Instruction Sheet No.A2054-431 (7.12.10)

- NG9

/AL

IPERFEORMANCEFKITY

Part Number 57-0384 INSTALLATION INSTRUCTIONS

Audi A3 1.8L 20v 4Cyl. 07/1997-2000 Parts list:
1 x Air filter Element.

1. Unclip & remove the electrical harness plug from the MAS (Mass Air Sensor). (Fig. 1) 1 x #64 Hose Clip.
2. Unclip & remove the intake hose from the MAS. (Fig. 2) 1 x Rubber Filter Adaptor.
3. Unscrew the air box lid from the air box base & remove the lid assembly from the vehicle. 1 x Flexi Cold Air Hose.

(Fig.3&4) 1 x Literature Pack.
4. Remove the 2 bolts securing the air box base & carefully remove base assembly from the 1 x Fixing Kit :-

vehicle. (Fig. 5&6) 1 x M6 Nylock Nut.
5. Carefully unscrew & remove the MAS from the air box lid. (Fig. 7) 2 x Small Flat Washer.
6. Position the 2 large flat washers either side of the large hole on the new mounting bracket 1 x Allen Head Bolt.

& secure the bracket to the gearbox mounting using the original bolt. (Fig. 8) 1 x Mounting Bracket.
7. Refit the MAS to the original intake hose & secure using the original hose clip. Rotate the 3 x Plastic Ties.

MAS until the mounting hole is in the 6 o’clock position. (Fig. 9) 2 x Large Flat Washers.
8. Attach the MAS to the mounting bracket using the allen head bolt, nylock nut & washers

supplied. (Fig.10)
9. Reconnect the electrical harness plug to the MAS. (Fig.11)

10. Fit the rubber filter adapter onto the MAS. (Fig.12)

11. Fit the Air filter onto the filter adapter & tighten the clip supplied. (Fig.13)

12.  Carefully lengthen the flexi cold air hose & feed the hose down to the lower spoiler. Secure
the top of the hose to finish approx 4” / 10cm from the Air filter using plastic ties supplied.
(Secure the hose away from the gear selector / clutch lever). (Fig.14)

13.  Taking all necessary safety precautions as per manufacturers instructions raise the front of
the vehicle. Secure the cold air hose to the under tray using a plastic tie supplied. (Fig.15)

14.  Carry out a final check of the height / alignment of the K&N induction system before starting

the engine. Installation is now complete.

b

gt |
- A

i |

Fig. #14 Fig. #15


www.carid.com/knn/
http://www.carid.com/performance-air-intakes.html

- S
/AL

Artikelnummer 57-0384
Audi A3 1.8L 20v 4Cyl 07/1997-2000
Instructieblad No. A2054-431

w

&

[<2]

~

o]

10.
11.
12.
13.

14.

15.

(Fig. 1)
. (Fig. 2)
. (Fig. 384)

(Fig. 5&6)
. (Fig.7)
. (Fig. 8)
. (Fig.9)
. (Fig. 10)
. (Fig.
(Fig.
(Fig.
(Fig.
(Fig.

(Fig.

(Fig.

16.

Neem de stekker van de luchtmassameter (LMM) los.

Maak de slangklem los en verwijder de inlaatslang van de luchtmassameter
Draai de bouten los en verwijder het deksel van het luchtfilterhuis zoals
afgebeeld.

Schroef het luchtfilterhuis los en verwijder het uit de auto zoals afgebeeld.
Draai de schroeven los en verwijder voorzichtig de LMM van het

Plaats de 2 geleverde grote ringen aan weerszijden van het gat in de
montagebeugel en monteer deze op de versnellingsbaksteun met de
originele bout zoals afgebeeld.

Plaats de LMM terug in de inlaatslang zoals afgebeeld, draai nu de
geleverde slangklem vast.

Monteer de geleverde bevestigingsbeugel aan de LMM met de geleverde
M6 bout, borgmoer en 2 viakke metalen ringen zoals afgebeeld.

Sluit de stekker weer aan op de LMM.

Schuif voorzichtig de rubber filter-adapter op de inlaatkant van de LMM.
Plaats het filter op de rubber filter-adapter met de geleverde slangklem.
Trek de flexibele koude-luchtslang voorzichtig uit. Voer de slang naar
beneden, naar de bodemplaat.

Richt het uiteinde van de koude-luchtslang op het filter; zorg dat er
ongeveer 10 cm ruimte tussen slang en filter zit. Maak de slang vast met
Krik voorzichtig de voorzijde van de auto op. Neem hierbij de aanwijzingen
van de autofabrikant en alle veiligheidsmaatregelen in acht.

Maak het het einde van de flexibele koude-luchtslang vast aan de
bodemplaat/bumperspoiler met de geleverde tie-wraps; zorg dat de slang
naar voren wijst.

Controleer nogmaals of alle onderdelen goed bevestigd zijn en vrij liggen
alvorens de motor te starten. De inbouw is nu voltooid.

Onderdelen

1x

1x

1x

1x

1x

1x

2x

1x

1x

3x

2x

Filter-Element
#64 Slangklem
Rubber Filter-Adapter

Flexibele Koude-Luchtslang

Documentatieset
Inbouwkit:-
Borgmoer M6
Metalen Ring M6
Bout, Inbus M6
Beugel
Tie-Wrap

Metalen Ring M6, groot



- S
/AL

Artikelnummer 57-0384
Audi A3 1.8L 20v 4Cyl 07/1997-2000
Instruktionsblatt No. A2054-431

1.
2.
3.
4.

o

~

o]

o

10.

11.

12.

13.

14.

15.

16.

(Fig. 1)
(Fig. 2)
(Fig. 384)
(Fig. 586)

(Fig. 7)

. (Fig. 8)
. (Fig.9)
. (Fig. 10)

_ (Fig. 11)

(Fig. 12)
(Fig. 13)

(Fig. 14)

(Fig. 14)

(Fig. 15)

(Fig. 15)

Lose und entferne den Stecker vom Luftmengenmesser (LMM).

Lose und entferne das Lufteinlarohr vom Luftmengenmesser (LMM).

Lose die Befestigungsbolzen und entferne den Filterkastendeckel wie
Entschraube das Luftfiltergehduse und entferne es vom Fahrzeug wie
abgebildet.

Lose die Schrauben und entferne vorsichtig den LMM vom Luftfiltergehause.
Platze die 2 gelieferten grof3en Metallringe ums Loch in der Halterung und
befestige sie auf die Getriebegehausestiitze mit dem Originalbolzen wie
Befestige den LMM wieder ins Lufteinla3rohr wie abgebildet, ziehe nun die
gelieferte Schlauchschelle fest.

Befestige die gelieferte Halterung an den LMM mit dem gelieferten M6 Bolzen,
VerschluBmutter und 2 flachen Metallringen wie abgebildet.

SchlieRBe den Stecker wieder an auf den LMM.

Schiebe vorsichtig den Gummilufteinlal3trichter auf der EinlaBseite des LMM.
Befestige den Luftfilter auf den Gummilufteinla3trichter mit der gelieferten
Schlauchschelle.

Dehne vorsichtig den gelieferten flexibelen Kaltluftschlauch aus. Fiihre den
Schlauch herunter zur Bodenwanne.

Fuhre das Ende des Kaltluftchlauches zum Filter; es sollte ca. 10 cm vor dem
Filter enden. Befestige den Schlauch mit einem gelieferten Kabelbinder.
Hebe vorsichtig die Vorderseite des Fahrzeugs an; nehme die Anweisungen

des Fahrzeugherstellers und alle notwendigen SicherheitsmafRnahmen in acht.

Befestige den flexibelen Kaltluftschlauch an die Bodenwanne/Frontspoiler mit
den gelieferten Kabelbindern, achte darauf da der Schlauch nach vorne
Prufe nochmals, bevor Sie den Motor starten, ob alle Teile ausreichend
Zwischenraum haben und richtig fest sind. Die Installation ist nun beendet.

Teile

1x
1x
1x

1x
1x

1x
2x
1x
1x
3x
2x

Luftfilter
Schlauchschelle #64
Gummilufteinla3trichter

Flexibelen Kaltluftschlauch
Dokumentationssatz
Einbaukit:-
VerschluRmutter, M6
Metallring, M6

Bolzen, Innensechskant M6
Halterung

Kabelbinder

Metallring, M6- grof3




- S
/AL

Kit référence 57-0384
Audi A3 1.8L 20v 4Cyl 07/1997-2000
Feuille d'instructions No. A2054-431

12.

13.

14.

15.

16.

o gk wDN P

. (Fig. 11
10.
11.

. (Fig.9)

. (Fig. 10)

=

(Fig. 12
(Fig. 13

=z o

(Fig. 14

=

(Fig. 14

=

(Fig. 15

=

(Fig. 15

=

Déconnecter la connexion électrique du débitmetre (DBM).

Décliper le collier de serrage et prener le tuyau d'admission du débitmétre
Dévisser les boulons et enlever la couvercle de la boite a air comme indiqué.
Déviser et enlever la boite a air de la voiture comme indiqué.

Dévisser les vis et enlever avec précaution le DBM de la boite a air.

Placer les 2 grandes rondelles fournies autour du trou dans le support de
montage et l'installer sur le support de boite de vitesses en utilisant le boulon
original comme indiqué.

Installer le DBM dans le tuyau d'admission comme indiqué, maintenant serrer le
collier de serrage fourni.

Installer le support fourni au DBM en utilisant le boulon M6, écrou Nylock et 2
rondelles plates en métal fournis comme indiqué.

Reconnecter la connexion électrique du DBM.

Installer avec précaution I'adaptateur de filtre en caoutchouc sur I'entrée du
Installer le Filtercharger sur I'adaptateur de filtre en utilisant le collier de serrage
fourni.

Etirer avec précaution la canalisation flexible d'air froid. Insérer la canalisation
vers le bas jusqu’au plateau inférieur.

Placer I'extrémité de la canalisation flexible vers le filtre de facon qu'elle s'arréte
environ a 10 cm du filtre. Fixer la canalisation en utilisant un collier plastique
Selon les instructions du fabricant de la voiture et en prenant toutes les mesures
de sécurité nécessaires, soulever avec précaution I'avant de la voiture.

Fixer la canalisation flexible d’air froid vers le bas jusqu’au spoiler inférieur en
utilisant des calliers plastiques fournis; assurer que la canalisation est orientée
vers l'avant de la voiture.

Effectuer un contrdle final de I'alignement et de la hauteur du kit. L'installation est
maintenant achevée.

Liste des pieces

1x

1x

1x
1x
1x

1x

2x

1x

1x

3x

2x

Elément Filtercharger
Collierde serrage #64

Adapteur de filtre, caoutchouc
Canalisation flexible dair froid

Pack documentation

Kit de Montage:-

Ecrou, Nylock, M6
Rondelle, métal, M6
Boulon, téte bombée, M6
Support

Collier plastique

Rondelle, métal, M6, grande





